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Boolean Function (Scalar Valued)

e Function of the form
f.B"— B
wWith

B :=10,1}

 We can interpret "0 as false”, “1 as true”



NOT Gate

Function
f:B—= B,z f(z)
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fz)=1—a
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Convention: Operator Precedence

Operator Precedence
1 4
A 3
\/ 2
V 1

aV(bANc)=aVbAc



Example
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Example

—a ANbV a /N b
= ((ma) AD) V (a A (D))



a —a | =b| maAb | aAN—=b | aAbV a AN b
0 1 1 0 0 0
0 1 0 1 0 1
1 0 1 0 1 1
1 0| o 0 0 0




